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The domain of  f g  , where 
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The function 2( ) log (3 )f x x   is continuous on Q.11 
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The equation of the line which passes through the point  3,1  and parallel to 

the line 4 2 3 0y x    is 
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The absolute minimum value of 
2( ) 12 3 1f x x x    in [0,3] is Q.22 
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The critical  numbers  of   the function  
3 2( ) 2 3 1f x x x     are  
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The function 
3 2( ) 2 3 1f x x x       is increasing on 
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The function 
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 2sin cosx x   
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If  ( ) csc cotf x x x , then y    Q.40 

2csc ( 1 2csc )x x   (B) 2csc (1 2csc )x x  (A) 

2csc ( 1 2csc )x x  (D) 2csc ( 1 2csc )x x   (C) 

 

 


